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R AT b 22 San TR RRIE EFREE
No = o4 B RMMfRELE  AEFEE (R HSE IR 40% % ) (EFEES0F /hakl L) iR

1JEX JEET1T B 63.13 114.24 =
21N X JERT2T B 61.37 85.86 =
RIS REAAT 50.26 102.71 =
4])115X ERATAET 96.53 11.46

5| JITIEF X 1EHT 82.60 73.86

QIEES BE1TH 85.95 23.61

7{[UEX EE2TH 77.84 14.16

8[JINEX EE3TH 90.75 3.87

9[JINEX EEATH 96.78 0.54

10[J ISR TR 66.56 71.44

RIS BE1TH 63.95 166.74 =
12| 1[I X HiZ2TH 58.06 144.04 =
131Nz X =1TH 43.63 104.40 =
141X E2TH 44.67 99.26 =
15[JITIEX = B 85.04 95.04 =
16[JI[EFX =AET 90.97 50.80

17[)1HE R R=E1TH 57.44 92.42 =
18[J1E X m=ET2TH 74.25 127.32 =1
19[)1E X R=ET3TH 78.18 98.61 =1
20[) 1B X EHT 60.57 80.48 =1
21 ]I X JTAITH 56.85 108.13 =
22|) 11X FTAR2TH 67.48 109.49 =
23| JIN& X INNTH 67.18 64.80
24]) 1B X IN2TH 72.70 86.56 =
25] 1115 X AT 94.15 9.74
26[JINE X HE®E1TH 62.86 97.61 =
27[ 1B X HE®2TH 58.71 106.10 =
28] IEX HEE3TH 61.02 86.27 =
29) IR HEEATH 77.96 25.94
30[J I HEHST H 77.94 7.59
31 )X 7 96.80 33.89
32|J 11X 3 96.92 46.47
33[)INEX 1 73.43 64.13
34]JIIBX [2E 69.70 93.86 =
35JI1IX i 81.55 28.21
36/JI1IBX g 49.94 92.28 =
37[JIIBX : 5412 91.69 =1
3815 X /] 90.51 73.92
39[)INEX /| 36.11 92.52 X = [
40[J1I& X / 39.40 95.41 X = [
41 )1 X / 15.84 105.90 X = D)
42[)1EX / 41.40 84.14 =
43[J I / 46.40 96.55 =
44] )1 X / 28.76 104.37 x = ®
45[)11IX / 97.47 54.36
46])11IEX /] 36.27 94.95 X = []
47] 15X /] 99.90 0.13
48|J 11X / 99.62 0.04
49]J 111X / 100.00 0.00

50[JITE X FF11 T B 37.87 130.40 x = [
51X 12T B 4291 86.66 =
52[JINIE X Rl 87.59 83.10 =
53[ )11 X JK;THTA 99.00 0.00

54()1[I5X JKIHT B 100.00 0.00
55|JI1IBX TFERTA 99.78 0.03
56 )X TEHB 98.64 0.00
57[JI[X NHS1TH 41.12 123.89 =
58|JI1IEX JNHPB2TH 71.28 63.89
59J1 /115X RRHATA 97.41 0.18

60[ /1N X =mEIB 100.00 0.00

61]JINEX BEA 99.95 0.00

AN mEB 98.27 0.00

63[) B X £H1TH 51.97 88.69 =
64 ]I X £H2T H 4555 116.05 =
6511 X £MH3TH 38.71 99.55 X = [
66| J1NIEX ZHATH 53.19 73.94

67[)INE X ZITHTA 99.59 0.11

681115 X E2adl=) 100.00 0.00

69 )11 X =i 46.00 95.36 =
7015 X XEMERAT1 T H 65.47 125.20 =
71[JINEX AEMERRI2 T B 74.65 54.79

PANIE KEfAIFE1TH 97.56 3.42

731N X REMAIE2TH 86.39 54.01

74) 1N X pNGZNE] 99.75 0.00

75|)INE X X Eifi BT 71.62 49.22

761X X Bifi A BT 43.90 88.81 =1
77| X KIJIETA 99.64 0.00

78] )11 X 99.73 0.00

79[ X 60.52 91.54 =
80|JITIBX 58.87 95.92 =
81| X 60.58 100.37 =
82|JI1IX 66.28 117.19 =
83JIIX 57.44 99.00 =
84|J11IBX 5259 9273 =1
85|JI1IX 85.04 58.87
86111 X 50.85 101.54 =1
87|15 X 93.62 1.21
88|11 X 94.29 5.88
89| /1[I X 98.70 0.00

90|JINEX 67.77 107.33 =
1IN X 67.53 108.09 =
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R AT b 22 San BRI EFREE
No = o4 B RMMfRELE  AEFEE (R MR 409 ) (EFEES0F /hakl L) iR

92|)INE X SE1TH 100.00 0.00

93[ 1N X FE2TH 67.33 97.54 =
94[ 1N X F#E3TH 7858 42.62

95[JINBX FE1TH 58.95 102.32 =
96 ) INIB X $HE2TH 47.64 118.95 =
97| INEX FE3TH 76.82 84.44 =
98[) & X BT 69.64 156.61 =1
99JINE X 2R 82.84 11.70

100]J 115 X BRET1TH 68.31 54.52

101[JIIE X FRET2TH 51.76 62.58

AN FRET3T HA 94.76 7.30

103] )11 X FXBT3TEB 95.42 0.00

104[J 15X HET1TH 56.52 78.84

105[ /1B X MET2T B 78.32 47.65

106[J1[E5 X EET3T B 84.76 10.69

107[J1[EF X M S HT 68.56 72.91

G =PI 99.68 0.00

109[JI1IB X EHE1TH 58.09 118.62 =1
T10[JIIBX EH2T H 37.67 110.38 X = [
111 [JINB X EE3TH 53.43 74.94

112[IEX EHATH 48.99 81.70 =
113[INEX & F [l AT 61.93 9591 =
14[IEX CE M L ER/T 61.72 91.17 =
15[ EEFHET1TH 55.16 78.34

116]) I X EHEFE2TH 39.21 116.16 X = D)
7K EHHESTH 57.86 64.38

118[JINE X 3 F SR T 47.19 84.42 =1
119]JINE X HRBA 99.72 0.00

120[ 1B X EV) 100.00 0.00

121[J1E X L) 89.85 80.64 =1
12211 X HMFIITH 47.66 92.54 =
123]) I X RMEI2THE 67.01 62.03

124]) 15X REMEISTHE 50.52 74.90

1251 BT H 53.97 95.99 =
126 [ 1B EB2T H 67.54 93.10 =
127]) & X BIB3TH 67.26 90.90 =1
128 /1B X BIB4TH 59.29 123.82 =1
129]) 115X L 84.02 116.13 =1
130[J I X S HETA 99.79 0.02

131 [JINE X ERETB 99.47 0.00

132 1B X B/HE1TH 66.33 65.46

133[ /1[I X B/H2TH 81.03 41.95

134[ 1[5 X H R 84.88 112.60 =
1351 X BHRETA 98.19 0.46

136[JIIB X BEHEB 99.17 0.00

137 1B X EF1TH 65.47 97.05 =1
[ERIGES ERT2T H 70.29 86.83 =1
139[ /1[I ERT3TH 53.60 116.26 =1
140[J 1[I X ERT4T H 74.40 47.86

1411 X =EXR1TH 92.22 5.22

142]) 15X ETR2TH 83.55 13.16

143]) 15X FEHTA 96.34 0.01

1441 X EETHIE) 100.00 0.00

145]) I X &2 AET 80.33 64.82

146]) B X AB1TH 76.45 166.29 =1
147[)IIEX AHBT2TH 83.72 148.14 =1
148[ 1B X B/HITHA 99.59 1.24

149[J1[IE X B®HEI1TEB 100.00 0.00

150[J1[E X ®H2THA 98.94 0.29

151 [JINEX ®H2THEB 97.52 0.00

152]JINIEF X WHITHA 99.31 0.00

153])IHIEF X %®H3TEB 100.00 0.00

154[ 1B X A ARET 94.68 0.00

155 JIIB X (ZEGANIED 96.56 0.00

156X SR PR AT 76.91 51.37

157X TFEH 64.63 87.29 =1
158| X ;] [ T 97.41 251.33 =1
159[F X EhHA 44.84 18.45

160[ X mhmi5B 100.00 18.45

161[=X Ehiz1TH 45.20 97.46 =
162[=X 52T H 36.61 114.57 x = ®
163[ZX LG 55.30 101.56 =
164[=X EF 94.51 70.13

165[FX FF 55.87 61.00

166X Fx 46.72 79.57

167[FX F¥ 36.09 103.87 X = [
168[FX Fx4 85.17 70.13

169[FX P4 50.78 70.13

170[ZX GEY. 71.82 58.35

171[ZX F¥4 58.42 76.62

172]ZK ETRN 49.72 92.40 =
173[= X ZRT2] 5256 76.60

174[Z X EZF 100.00 76.60

175[= X 273 19.54 119.79 X = D
176[=X 273 100.00 76.60

177]%= X W14 ] 32.30 124.56 X = [
178[= X i = AT 44.31 71.09

179|%=X S H 58.15 57.45

180[=X INE] 72.05 0.00

181X NEFEET1TH 50.67 75.47

182|FEX NEFERI2TH 40.32 90.17 =
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183| =X /NEIFEET3 T B 47.88 93.97 =

184|FF X NAEFERI4TH 77.41 57.07

185X /INE e B BT 76.78 48.92

186|FEX NG 33.00 97.25 x = ®

187|= X /NE R BT 99.54 0.00

188X NEA 6391 63.60

189X NEB 97.54 0.00

190[= X TR 97.73 1.13

191[%= X HEHET1 T B 54.41 62.50

192[FX HEHET2 T H 57.71 90.08 =

193|=EX AE=HT 87.68 72.92

194|FX hERI1TH 50.73 124.62 =

195|FX hER2TH 36.31 148.26 X = D)

196X hEZM3TH 62.20 110.98 =

[ERIETS hEM4TH 66.72 141.22 =

198[F X Fi1T R 56.76 85.08 =

199|= X ZH2TH 39.84 116.15 X = )

200| %=X F#3TH 68.19 53.87

201[=X BEi##4TH 77.33 103.59 =

202[=X #RET 89.31 27.00

203[ZEX Romis 63.562 69.49

204X EAEE1T 63.67 57.51

205X EMEE2TH 53.66 63.83

206[=X EMNFEIT B 56.37 83.67 =

207X EMEATHA 67.70 61.13

208[=X EMm#E4ATEB 267 0.00 X

209[=X EMFEST HA 53.25 53.24

210[=X EM#EST BB 98.52 0.00

211 =X EER1TH 47.82 132.74 =

212[=X EEH2TH 5717 196.63 =

213[FEX EER3TH 61.12 74.22

214|ZX EIBIIE: ] 100.00 0.00

215X JEIFE1TH 55.49 73.92

216X JEinEE2T B 51.21 53.96

217|%= X JLnEE3TH 4528 92.06 =

218X 21 BTA 99.58 6.44

219[=X 2| ETB 99.99 6.44

220[ZK X EA 67.91 54.28

221K %EB 2.08 0.00 x

222[FX HINET 84.51 37.63

223|hERX HFHE1TH 25.25 70.45 X

224|HEK HHE2T B 57.28 54.89

225|HEKX FHESTE 71.26 39.16

226 HERK FH =R 54.13 90.14 =

227[FR[RX EiassLANL] 54.06 65.16

228|HRK FHEF/H 56.33 105.13 =

229 ER T/NEAF1T 62.80 97.69 =

230 H[RX T/EF2TH 69.93 74.63

231 AKX T/NEF3TH 55.39 90.01 =

232|hRX T/NEH4TH 60.98 110.54 =

233|hEX T/NEH5TH 58.95 59.24

234| R X T/NE+H6TH 5359 92.40 =

235[HEX TBERA 60.82 41.84

236[F[R X TBEB 96.33 41.84

237[FRK TEHI1TH 84.50 63.07

238[ AKX T#HE2TH 51.67 106.42 =

239|hRX T#EH3ITH 49.21 123.68 =

240| B X Hi1E 42.64 92.49 =1

241|[H[RX HFRITH 68.96 263.20 =

242|HRX AFE2TH 46.56 179.88 =

243[HEX EARA1THA 4345 24.61

244[hEX EA1THB 97.32 24.61

245[hEX =ERN2TH 59.92 40.93

246[HEX ERA3TH 51.46 77.41

247[FEX =RN4TH 64.04 61.20

248 HEX SHLH 88.22 29.88

249|h[RX S FTaET 59.53 126.84 =

250] PR 4 FH{HET 52.80 87.49 =

251|HEX S FHEET 47.26 98.31 =

252| IR Hh/HE 57.03 85.74 =

253 AKX INZEHERRT1 T B 48.35 76.40

254| AR X INZEERRT2 T B 38.22 125.83 X = D

255[ R X NEZEERT1 T H 37.50 102.75 x = )

256|PIREX NEZEEE2T H 38.71 77.16 x

257| B X INZET1TH 80.96 107.89 =

258| IR INEZET2T B 69.41 89.41 =

259|hRX B3 T B 85.41 65.26

260| /R X LHF 100.00 0.00

261|PRX EAFILERITHA 39.75 77.04 x

262|hRX FAFILERI1TEB 9473 77.04

263| PR X EAFILFR2THA 49.39 114.87 =

264|FIRX EFAFILERT2TEB 87.72 114.87 =

265[RREX R FRHETA 4255 49.87

266|PIREX LR FRHEETB 93.33 49.87

267[ AKX AL F/\IBETA 46.15 45.13

268[ AKX AL F/\IBETB 79.04 45.13

269 EX F/NAF1TH 40.60 89.64 =

270 h[RX T/NHT2TH 34.74 81.57 x = )

271| PR +H/NAFITH 62.65 83.58 =

272|hEX F/INEHF4ATH 99.78 0.00

273|IRX E/IEFSTH 68.78 98.23 =
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274|H[RX L/INEHF6TH 53.66 81.29 =

275|hRK F/IEFTTH 46.93 73.79

276| PR LHBITHE 52.68 112.36 =

277| PR L¥HE2TH 74.62 153.08 =

278| PR LA 58.53 53.10

279| R X LB 95.22 53.10

280| PR FALF 74.31 181.74 =

281[FREK HAFEITH 64.42 173.05 =

282|h[RX FAFR2TH 76.18 150.94 =

283|HhRX HAFRITH 95.53 8.82

284|PFRERKX i 64.13 133.63 =

285| AKX HH1TH 77.92 138.56 =

286| R X 2T H 28.70 118.22 X = D

287| R X 3T H 63.91 106.04 =

288| R X 4T B 35.18 89.37 x = ®

289| R X 5T B 48.23 136.93 =

290 E X i o BT 57.20 94.67 =

291 [FRK FaANEA 77.64 43.73

292[HAX AEHT 99.67 0.00

293[ AKX hhLFA 62.24 48.37

294[ AKX FHFB 95.63 48.37

295| R X H 5 AT 52.18 155.28 =

296| R X ZRAA 71.34 3.29

297| R X EXTIiE 91.45 3.29

298| AKX LA ET 60.72 75.62

299|h[RX XA 52.21 116.29 =1

300[HEX X A i EHET 73.89 94.22 =

301 [HRK AR FEAET 54.97 150.12 =

302| PR AR EEET 83.18 81.13 =

303[HRR 84.76 74.56

304 &2 X 73.04 5.13

305| =2 X 93.05 5.13

306|552 X 55.74 56.30

307 | &2 X 95.24 56.30

308| &2 X [BA 65.16 20.09

309| &2 BB 96.81 20.09

310| &R '8 84.34 26.15

FIEEETS [HA 68.18 39.66

312| &R BB 97.19 39.66

313|EER 60.62 65.84

314|552 X #y81TH 89.86 38.78

315|= 2 X B B2TH 83.70 88.37 =

316|=EX ErB3TH 47.01 72.07

317 &KX #Byr84TH 4578 51.28

318 & EX By 85TH 4584 39.37

319|EEX #-86TH 28.21 34.81 X

320( 52X AHhA 76.86 31.99

321|&ERX AthB 66.63 31.99

322| &2 A1 TH 46.45 31.99

32352 X AM2THA 52.39 31.99

R4|EEX AM2TEB 100.00 31.99

325|=E X A3 TH 83.03 31.99

326| =2 X AH4TH 68.28 31.99

32752 X AKX1TH 66.61 65.95

328 &2 X AXR2TH 86.29 52.30

329[E =R AAXR3TH 93.79 89.93 =

330| &R AKA 50.05 43.29

33| &R AXB 84.55 43.29

332| &R A4 53.96 59.15

333|=EX i qn] 72.65 85.82 =

33| = EX EO1TH 87.23 26.46

335|=EX EO2TH 66.64 88.96 =

336|552 X EO3TH 59.00 123.91 =

337|EEX EOA4TH 61.10 74.80

338|=EX EOGTH 5157 66.31

339|EEX EO6TH 64.04 64.69

340|EiE R RE1TH 76.16 57.12

M| EER RE2TH 64.33 63.96

342|552 X RE3TH 66.18 83.96 =

343[EEX FH0O 57.16 54.33

344[EEX BOETRE 13.32 54.33 X

345|552 X FEEA 59.40 41.59

346| =2 X FHEB 94.72 41.59

34752 X E1THA 76.58 23.83

348| =X E1THB 79.52 23.83

349| 52X F2TH 60.73 37.18

350| &2 X E3THA 46.41 50.90

351 &2 X E3THB 55.62 50.90 _

35222 X E4TH 60.14 88.29 =

353|=EX E5TH 55.14 12011 =

354 52X E6 T H 58.57 121.61 =

355| =2 X Hi1TH 31.72 106.90 X = D

356|552 X 2T HA 44.76 57.31

357|&2X H2THB 97.26 57.31

358| =R X 3T H 42.72 92.17 =

359|EiE X HA 53.14 26.05

360|512 X #HB 94.38 26.05

361| =X FE 53.80 53.24

362 &2 X THEFHET 42.16 96.94 =

363|EEX —F1THA 46.82 77.24

364|552 X —F1THEB 96.97 77.24
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365| =2 X 31.46 147.28 X = ®

366| 52X 54.05 88.41 =

367 &2 X 40.92 101.28 =

368| &2 X 66.77 107.11 =

369|=EX 62.90 58.15

37052 X 37.54 50.21 X

FAIEETS 62.49 42.81

32| EE X 97.03 42.81

373| &R 69.50 32.99

374|552 74.48 59.26

375 &2 X 69.53 59.26

376| &2 X (S 47.52 69.24

377|EEX F (EEX)A 65.12 41.66

378|EEX B (EERX)B 49.49 41.66

379|=RIX IFOEFE 90.68 82.90 =

380| = RIX [ 75.81 26.18

381|=RIX FIFA 58.37 79.10

382|=HIX =I5B 54.65 79.10

383| = RIIX =IB1TH 75.96 115.19 =

384| = HIX =iB2TH 83.15 77.66

385 | = AT X =IE3TH 68.00 76.38

386| = AIX =IG4TH 74.22 10.57

387|=RIX =IE5TH 32.46 69.30 X

388| = RIX HIG6TH 52.41 4951

389| = RIX ERIE1TH 82.82 91.91 =

390| = RIX ERIF2T H 84.91 69.32

391 | = RIX =AIFE3TH 7716 112.78 =

392|=HIX RE1TH 58.59 30.49

393| = HIX RE2TH 81.87 30.08

394 =RIX Rigk3TH 84.44 45.05

395| = RIX HFFEITHE 29.63 36.58 X

396 | = RIX AFE2TH 15.78 40.48 X

397 | ERIX BE1TH 73.18 105.98 =

398| = RIX BiE32TH 63.23 55.85

399 | ERIX =83 TH 59.05 59.47

400| = AT EB4TH 66.26 41.77

401 | = AT ML1TH 71.99 10.20

402| = AHIX #L2TH 37.97 49.68 X

403| = AT NE1TH 92.60 65.63

404| =RIX N52TH 69.16 95.42 =

405 ZATX KX1TH 40.60 36.22

406 ZATX X2TH 41.33 46.83

407| =R AXB1TH 44.69 35.37

408| =R AXEI2TH 78.03 25.20

409| =RIX AXEBI3TH 32.27 38.87 X

410| = AT AAH4TH 31.41 46.27 X

411 = EIX AAHSTH 47.25 73.33

412[ERIX KE1TH 97.74 0.38

A 3[ERIX KE2TH 89.08 3.77

414[ZAIX KR3TH 7853 19.30

415| =R E41TH 51.15 19.58

416|=AIX E4£2TH 77.72 2453

47| =R E4£3TH 36.55 50.92 X

418| =R E4£4TH 59.46 26.41

419| = AT EE5TH 34.50 41.06 X

420 = AIX E£6TH 37.72 4355 X

421 = HIX EEsE 66.26 33.34

422 ERHIX BREA 65.90 9.49

423 = AIX HREB 82.16 9.49

424 ZRIX T#E1TH 71.87 73.64

425| =RIX T1#E2TH 73.93 62.98

426 ZAIX +#E3TH 49.18 44.88

427 ZRIX T#E4TH 93.70 90.75 =

428 EAIX 1#E5TH 80.80 35.20

429| =RIX T1E6TH 72.99 45.65

430 =RITX +#E7TH 41.91 42.38

431 = A HEE1TH 38.13 36.49 X

432| = AIX HEE2TH 44.95 34.41

433| =RIX REE3TH 46.07 48.88

434 ERIX REBATE 63.72 56.09

435| =RIX REESTH 62.03 44.43

436| =AIX BTE 83.32 63.43

437| =R 58 50.24 59.37

438[FAIX BHEE1TH 40.85 58.67

439| =RIX HiEE2TH 72.70 106.11 =

440 EAIX E1TH 59.32 58.30

441 E R E2TH 72.26 61.80

442 EHIX E3TH 52.57 22.65

443| =R F4TH 34.65 28.26 X

444 =RIX E5TH 48.15 36.20

445 = HIX E6TH 53.37 40.91

446| =RIX EIETES) 55.61 37.94

447 ERIX F51TH 62.76 97.04 =

448| = RITX HE2TH 67.54 58.15

449 ERHIX F53TH 66.23 29.67

450| = AT FE4TH 76.75 60.92

451 = AIX FE5TH 50.96 37.57

452| =RIX HE6TH 63.79 57.77

453| =R FE7TH 76.21 46.58

454| =RIX FE8TH 54.06 61.01

455| =RIX HEOTH 57.99 68.72
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456 LEX E1THA 56.17 48.69

457| ZER E1THEB 90.42 48.69

458| ZERX E2TH 4777 54.68

459 ZERX E3TH 49.21 63.35

460| ZEX ER1TH 32.53 67.67 X

461 ZERX EA2TH 36.98 39.93 x

462| ZLEX EAX3TH 33.64 64.59 X

463| ZEEX EB/4TH 32.69 59.10 x

464| ZERX =H1TH 69.91 103.35 =

465| B EX =H2TH 84.48 76.86

466| ZEX =ZH3TH 86.98 66.28

467| ZERX =H4TH 72.94 85.25 =

468| ZERX =H5TH 84.57 5.27

469| ZERX FEE1TH 42.82 52.63

470[ BERX FEE2TH 78.61 61.72

AT ZER BEAR1THA 46.92 48.90

472| B EX BEAR1TEB 99.50 48.90

473| BERX EAE2TH 53.82 83.63 =

474| ZERX BEARE3TH 54.11 82.63 =

475| BEX BEAE4ATHA 48.12 53.79

476 BEX TEalR4 ] BB 92.63 53.79

477 BER BAEST HA 55.99 40.93

478[ B EX BARs5T HB 75.66 40.93

479 BERX BAE6T B 50.78 69.50

480| ZERX BEAR7THA 37.00 40.36 X

481 B ERX BEAR7TEB 71.27 40.36

482| ZEX E=1TH 46.99 89.54 =

483| ZEEX E2TH 54.76 68.26

484| BEX =3TH 38.67 84.28 x = ®

485 BEX =4TH 36.61 82.58 X = [)

486| ZERX =51 H 32.36 76.34 x

487| ZERX E6TH 51.52 85.55 =

488[ BEX EhEEE1 T H 49.46 63.46

489[ZERX EfaHZ2THA 49.12 25.09

490[| ZER EfaHE2THB 96.09 25.09

191 ZER EfEHEITHA 55.80 29.80

492| ZEEX EfEHEE3THB 100.00 29.80

493 BEX BT 25.29 69.38 X

494| ZERX EWB1TH 65.24 25.29

495| B ERX EB2T 19.44 38.67 X

496 BLERX EWB3TH 76.30 37.41

497 BERX EWB4TH 92.57 0.00

498| ZERX E5IB1TH 41.24 56.74

499| B ERX EE52TH 48.93 44.26

500| ZEEX E5I53TH 4871 25.89

501 | B EX EEHZATH 99.89 0.83

502| ZEEX EdE1TH 4011 74.41

503| B EEX E4LiE2TH 28.19 84.31 x = ®

504| % EX E4LHE3TH 28.77 78.79 X

505| ZEEX EitiE4 T H 70.35 39.39

506| ZEEX E4LH5TH 65.23 32.40

507| ZEEX EHFBA 19.70 26.07 X

508 ZERX EEHF @B 95.21 26.07

509 2 ERX EM1TH 70.12 36.84

510| B ERX £H2TH 49.73 53.77

511|ZEX £H3TH 49.08 71.89

512[ ZERX £H4TH 72.81 25.65

513| ZEX £H5TH 54.56 27.67

514 ZEX 4£H6TH 22.91 68.30 x

515 ZERX £M7TH 63.52 51.99

516| ZERX 4£MH8TH 48.32 62.96

517[ZERX FEEHEITH 56.59 31.74

518[ B ERX FAEME2TH 46.20 54.17

519 ZERX FAMESTH 3254 62.87 x

520| ZERX BEMHITH 33.52 67.52 X

521 | ZEX FBEMESTH 24.00 62.06 X

522| ZEEX PEE 86.37 8.01

523| B EX FEHE1TH 52.84 49.89

524| ZEEX FHE2TH 46.62 45.16

525| % EEX T%HE3TH 51.33 65.19

526| % EEX THEATH 78.99 68.41

527| B ERX FEESTHA 65.40 91.24 =

528| ZEEX HFEHESTHB 86.93 91.24 =

529| ZERX TEHE6THA 54.56 106.32 =

530| B EX FEE6TEB 85.15 106.32 =

531| B EX ER1TH 53.24 54.04

532| B EX RiR2TH 69.53 26.85

533| ZEX £R3TH 67.04 23.49

534 ZERX ER4ATH 38.59 33.59 x

535 ZERX EE1TH 49.82 75.06

536 ZERX EE2TH 67.42 15.99

537 ZERX EESTH 78.07 20.30

538 ZEX EE4TH 60.40 49.35

539| 2 ERX REES5TH 42.99 63.31

540| % EE X EE6TH 58.46 49.61

541| B EX EE7TH 52.34 38.23

542| ZEEX ZEFA 47.56 73.39

543| % EX EFB 93.91 73.39

544 L ERX ZEFEC 71.85 73.39

545| L EEX A 10 52.63 124.96 =

546 ZERX H=HI1TH 98.14 15.63
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547| ZERX 2TH 92.55 21.87

548 ZERX 3TH 68.52 36.92

549 ZERX 1TH 58.22 135.22 =

550 ZLEEX 2TH 57.59 34.93

551 BERX 3TH 41.53 27.41

552 ZERX 4TH 36.68 30.99 x

553| ZERX 1TH 25.35 44.12 X

554| ZEX 2TH 45.06 31.26

555| Z X 3TH 73.37 16.80

556| ZEX 4TH 62.09 33.60

557| Z X 5T H 21.04 52.33 x

558 ZERX 6TH 13.29 73.40 x

559 ZERX 7TH 36.07 89.48 X = D

560 ZEX £H8TH 98.32 0.07

561 ZEX 36.45 47.56 x

562| ZEX 94.27 47.56

563| ZERX 100.00 0.00

564| ZEEX 48.10 0.00

565| ZEX Nz 72.41 40.25

566 % X 'H 40.21 83.49 =

567| B EX NE] 4471 11391 =

568| ZEX M| 78.10 21.06

569 ZERX '8 51.28 63.32

570[ ZERX = 80.78 26.47

571 ZERX = 99.32 0.00

572|RRERX EFHEF 92.71 25.33

573[RRERX FHEFBITH 43.02 25.33

574|RREX FHEFFH2TH 20.24 25.33 x

575|FRAEX FHEFBEITH 29.82 25.33 x

576 FREX FHEFFAEITH 56.28 25.33

577|FER FHEFFESTH 36.03 25.33 X

578| FRAERX THEFAEETH 35.62 25.33 X

579[FFEX FHEFA7TH 51.53 25.33

580 FFEX THEFAESTH 45.52 25.33

581|FRAE X FHEFEITH 37.98 25.33 X

582 FFEX FHEFR2TH 26.71 25.33 X

583 FEEX FHFEITH 31.10 25.33 X

584|FREX FHEFRAITH 50.39 25.33

585 | FEAE X FHEFRETH 50.14 25.33

586 FFAE X FHFR6TH 47.06 25.33

587|FRAEX LA 47.29 21.59

588 FRE X fEEB 79.25 21.59

589 | FRAE X THRREA 44.37 43.44

590|FRAE X THREB 55.98 43.44

591 |RR4EX £#1TH 16.53 71.80 X

592 FEEE X &f82TH 50.03 19.53

593 | FRAE X £3E3TH 71.15 20.78

594|FRAE X £184TH 49.27 24.13

595|FRAE X Z¥1TH 39.71 52.82 x

596 | FRAE X ZEE2TH 77.97 28.02

597 |FRERX EZN 8354 3.02

598 R X EA1TH 34.82 14.32 x

599| FRE X EA2TH 91.18 0.00

600 | FRAE X ZEKR3TH 96.75 0.96

601 |[FRERX FEXE1TH 67.10 31.93

602|FRERX FEXE2TH 63.18 19.29

RIS FXE3TH 64.04 8.78

604|FREX FEXE4TH 28.06 28.90 X

605|FREX FEAE5TH 63.70 16.26

606 | R X miRA 9472 3.75

607|FRAERX miRB 98.56 3.75

608| R X miRC 77.89 3.75

609|FREX HAOHE 80.19 11.21

610|FRERX HABE1TH 62.61 31.39

611|[FRER HAAH2TH 70.63 38.36

612|FRER HAM3TH 42.65 24.34

613|FRAERX RE1ITH 27.46 27.74 X

614|FRAERX RE2TH 56.45 16.49

615|FRAE X RE3TH 42.92 21.14

616|FREX =al1TH 38.16 66.48 x

617|FREX =62TH 30.40 58.66 x

618|FRAERX =563TH 50.71 64.24

619|FREX =64TH 39.24 107.98 X = D

620 R4 X =a51H 45.96 50.40

621 [FFEX =661 H 52.29 40.74

622 R4 X 21 87.53 3.23

623 | R4 X 21 88.78 3.23

624|FRERX 2| 66.54 3.23

625|FREX i 99.46 0.10

626|FREX 51.69 60.74

627|FREX 67.70 58.73

628|FRERX 46.19 40.58

629 FFEX 38.34 34.61 x

630[FFEX 20.59 44.40 X

631 [FFEX 73.59 2758

632|FREX 67.94 10.03

633 FEEX 39.42 30.64 x

634|FREX 79.00 35.09

635|FREX 55.46 35.09

636 FFEX 20.22 35.09 x

637|FEX 93.68 14.94
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638| FRAEX 20.51 38.83 X

639 |FFEX 78.07 40.80

640 FFEX 76.50 27.94

641[FRERX 45.45 35.94

642[FFEX 64.26 27.09

643[FFEX 83.78 27.09

644 FFEX 59.54 30.38

645 FFEX 58.40 30.38

646 | FRAEX 32.95 44.79 X

647 FREX 44.88 85.53 =
648|FRE X 38.38 53.46 X

649 |FFEX 34.44 59.52 X

650 FFEX 31.23 33.22 X

651[FRERX 35.02 33.99 X

652 FFEX 31.43 45.67 X

653[FFEX 52.89 30.40

654 FFEX 37.86 30.15 X

655 FFE X 81.00 2.91

656 FFEX 31.01 53.33 X

657 | FEEX 36.73 44.76 X

658 FFEX 41.77 44.08

659|FREX 35.16 43.13 X

660] FRERX 76.67 38.73

661[FFERX 4154 42.14

662[FFEX 92.23 9.35

663[FFEX 60.64 2217

664 FFEX 99.46 153.05 =
665 FFAE X 83.49 70.56

666 FFEX 98.42 56.60

667 FFEX 97.53 45.99

668|FFEX 92.25 49.25

669 |FFEX 97.24 63.72

670 FREX 96.86 84.60 =
671 [FFERX 44.46 33.65

672|FRERX 48.04 35.70

673[FFEX 47.70 20.15

674 FREX 82.68 11.21

675 FREX 60.31 87.26 =
676|FREX 61.79 68.60

677|FREX 47.18 66.73

678 FFERX 66.38 3.50

679|FFERX 77.72 3.50

680[FFEX 48.48 40.25

681 [FFERX 69.20 36.57

682[FFEX 36.89 42.91 X

683[FFEX 43.67 46.47

684 |FEEX 56.13 27.14

685 FFE X 85.27 10.55

686 FFE X 100.00 10.55

687[FRERX 86.47 25.55

688| FRAEX H&EF2TH 53.56 60.71
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